H & 0l & AHS B Ml A

20258 = =0ilah LB J1= 0l LA Xt

SN JIBULXID
2 IE2d
2ol tII=8 (Bt &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JIZ 0l X 2t 34,315,623 18,711,671 16,603,952
= 19,695,332
Jl 161,000
= 4,597,943
Al 9,861,348
SIEEEE 31,497,479 14,544,135 16,953,344
= 19,557,751
= 4,479,300
Al 7,460,428
o2& 31,497,479 14,544,135 16,953,344
= 19,557,751
= 4,479,300
Al 7,460,428
WItSEL & dE 2e| 28(EX) 119,400 120,000 2600
= 59,700
Al 59,700
201 fer= 3| 119,400 120,000 2600
== 59,700
Al 59,700
01 At22t2l] 119,200 119,400 A200
O&EEZA==2 6,779,400 +50H 2 33,897
< 16,948
Al 16,949
Oly|etE3 =3y el 29
17,060,600 *57H 2 85,303
= 42,652
Al 42,651
02 s3=gbl 200 600 2400
OUDIEREZY I, Saly
40,0002 *5IH 2 200
S 100
Al 100
WItSE3Y & dZE 2|2 (XHH) 83,600 66,200 17,400
201 er2 3| 83,600 66,200 17,400
01 AtR2telHl 59,000 45,000 14,000
OoJled=sdy & da3d 5§ 4238 7Y
7,000,000 *6H 2 42,000
onJlezadzae 249 2el 89
17,000,000 * 1 17,000
02 S5=2g4l 24,600 21,200 3,400
Olpy|etz &t AIZEHIS A
3,000,000& %12 3,000
OOIMZRILe0sS &), Stles
800,000& * 122 9,600




SA JI=0IH X1
2 IE2d
o2l tIEA (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
OoJledsdy & d28 d)|, Stles
1,000,000& 122 12,000
LS2HESX ZIIHX X2 A 2,894,000 2,896,500 22,500
= 1,447,000
= 144,700
Al 1,302,300
402 QI2F X201 & 2,894,000 2,896,500 22,500
= 1,447,000
[ 144,700
Al 1,302,300
CEEBENCEESGIEED 2,690,000 2,896,500 22,50
O=2ASx WX NA(4S3)
3,700,000 *350CH 1,295,000
= 647,500
< 64,750
Al 582,750
O=SHRA EIIEIF X2 (2£I1)
3,730,000 *300CH 1,119,000
= 559,500
< 55,950
Al 503,550
O 2RI ZIIHX X (5&82)
1,600,000 *300CH 480,000
= 240,000
& 24,000
Al 216,000
01210l SSxtE2l PG Mat XA 6,000 30,000 24,000
= 3,000
Al 3,000
402 2I2FX=01 & 6,000 30,000 A\24,000
= 3,000
Al 3,000
02 RIENEASEZ(0IETHR) 6,000 30,000 24,000
OO0 elol S=txe LPGRE &k X3
3,000, 000+2CH & 6.000
= 3,000
Al 3,000
OPF(OHH M Z &) REX A 99,000 280,500 181,500
= 49,500
Al 49,500
402 212+ X201 E 99,000 277,100 /178,100
= 49,500
Al 49,500
02 RIENEASEZ(0IETHR) 99,000 277,100 178,100




2A:

X XH -
o=

JIZ 0L Xl 2
o3 2d

celr oA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OOPF(H T ZE ) A AN
3,300, 0002 *30CH 99,000
= 49,500
Al 49,500
LI A WH XA 363,000 577,500 A214,500
= 181,500
Al 181,500
402 2I2E X201 & 363,000 577,500 A214,500
= 181,500
Al 181,500
02 QI X2 AL EE(OIHTHE) 363,000 577,500 A214,500
OAEIA AT WH XIS AL
16,500,000 *22CH 363,000
= 181,500
Al 181,500
23012t JUEX ds=A2el ABAE 4,702 2,690 2,012
= 2,351
Al 2,351
402 2I2F X201 & 4,702 2,690 2,012
= 2,351
Al 2,351
03 2IZHRAETAIHHI 4,702 2,690 2,012
OE3J12t X ds7N2] NFAS
4,702,000 12 4,702
= 2,351
Al 2,351
HIINSK SHI| 2SAE 30,000 66,300 /36,300
=S 9,000
Al 21,000
402 2I2F X201 & 30,000 66,300 36,300
< 9,000
Al 21,000
02 QI TH2AILEE (01X THE) 30,000 66,300 /36,300
O&IINSA S&I| XA
1,000,000 30CH 30,000
= 9,000
Al 21,000
SIS 2SAH 8,050,920 2,931,250 5,119,670
= 3,375,000
= 1,778,500
Al 2,897,420
402 QIF X201 & 8,080,920 2,931,250 5,119,670
= 3,375,000
< 1,778,500




2A:

X XH -
o=

JIZ 0L Xl 2
o3 2d

el I=d EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,897,420
02 QI XHE AL E R (01X THE) 8,050,920 2,931,250 5,119,670
O&IINSAE 78
8,050,920,000& *14] 8,000,920
= 3,375,000
= 1,778,500
Al 2,897,420
HIIet= X E5AH 4,632,000 2,528,750 2,103,250
= 3,520,000
= 528,000
Al 584,000
402 2IZtA=01d 4,632,000 2,528,750 2,103,250
= 3,520,000
= 528,000
Al 584,000
02 QI X2 AL EE(0IHTHE) 4,632,000 2,528,750 2,103,250
O&JIst=xt ¢ 12,000, 0002 *386CH 4,632,000
= 3,520,000
< 528,000
Al 584,000
HIIHA EgAY 1,010,000 605,000 405,000
= 700,000
[ 210,000
Al 100,000
402 QI2F X201 & 1,010,000 605,000 405,000
= 700,000
== 210,000
Al 100,000
02 QI ESASEZ(0IETHR) 1,010,000 605,000 405,000
O&JIHA 7Y 101,000,000 * 10CH 1,010,000
= 700,000
S 210,000
Al 100,000
ZII0IEX ESAE 82,200 72,000 10,200
= 44,000
= 16,200
Al 22,000
402 2I2F X201 & 82,200 72,000 10,200
= 44,000
= 16,200
Al 22,000
02 QI X2 AL E R (0IETHE) 82,200 72,000 10,200
O&II0IER 7 2,055,000 *40CH 82,200




SA JI=0IH X1
2 IE2d
o2l tIEA (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 44,000
=S 16,200
Al 22,000
HII=E)| ESAY 120,000 100,000 20,000
= 100,000
S 20,000
402 QI2F X201 & 120,000 100,000 20,000
= 100,000
S 20,000
02 QI 2AILEZ(0IETHR) 120,000 100,000 20,000
O&II=3)| 7 10,000,000 * 12CH 120,000
= 100,000
< 20,000
=2IHES) BESAY 5,888,000 1,725,000 4,163,000
= 4,500,000
= 995,000
Al 393,000
402 2I2FX=01 & 5,888,000 1,725,000 4,163,000
= 4,500,000
= 995,000
Al 393,000
02 QIZEN 2 AL EZ(0IETHR) 5,888,000 1,725,000 4,163,000
OF=AIHEE) ESAY
(34,500,000 *170CH )+23,000,000& 5,888,000
= 4,500,000
= 995,000
Al 393,000
FaAHA E5AHY 8,020,000 2,450,000 5,570,000
= 5,630,000
= 717,000
Al 1,673,000
402 QI”F X201 & 8,020,000 2,450,000 5,570,000
= 5,630,000
& 717,000
Al 1,673,000
02 QI X2 AL EE (01X THE) 8,020,000 2,450,000 5,570,000
Ox=aHA 23 A 8,020,000
—HaHA BESAY
300,000,000& +7CH 2,100,000
= 1,470,000
& 189,000
Al 441,000
—DAHA BSAMY
370,000,000 * 16CH 5,920,000




SN JIBULXID
2 IE2d
el oI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 4,160,000
=S 528,000
Al 1,232,000
2SI SEMEAIAE 56,110 53,245 2,865
201 =3 14,040 14,040 0
2 35244l 14,040 14,040 0
OBIEIIA 552 X1z SRS S23102
De=s 120,0003 %1204 & 1,440
OMIZEIIA 5S2 xHer 2B cHadtoet
Stes 1,050,0002 1290 & 12,600
308 AtAIEMSOIE 42,070 39,205 2,865
183 SIS B XA AIE 42,070 39,205 2,865
OHiEtA 555 xtg 2d et Se2ud
B 2d2ciHl & A2l
42,070,000 %12 42,070
SHEESAE ISA & sdeIZe 252 25,547 15,200 10,347
201 er2 3| 25,547 15,200 10,347
01 At2tlt] 22,547 12,200 10,347
Ozlgd st 2=2M E22 M
66,0002 %1604 10,560
OFSA NSX EHRA 5) &9l o= 5
2= MH 2,000 *999H 1,998
OMSBol Xsxt AEIH K=
1,000 +9, 989K 9,989
2 52434l 3,000 3,000 0
Ozletd NHsSAY fIgt dtie RUEsS 2
= 3,000& 1,000 3,000
IHEE NsA22d EXIXZAY 9,000 9,000 0
= 5,400
Al 3,600
402 2I2F X201 & 9,000 9,000 0
= 5,400
Al 3,600
02 QI TH2AILEE (01X THE) 9,000 9,000 0
OIIEE H=ARYR SXXE
600,000 = 15CH 9,000
= 5,400
Al 3,600
ARl E FHSYAS 2etd 2] WAl XA 4,000 4,000 0
=S 1,200
Al 2,800
402 2I2F X201 & 4,000 4,000 0
== 1,200
Al 2,800
02 QI TH2AILEE (01X THE) 4,000 4,000 0




SA: JIZ0H X 2

Hu: UPD|BE L

e EHJI_‘?‘_E_LL (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMZI=FE A8Z 2L DANL
800,000 *5CH 4,000
= 1,200
Al 2,800
Adetd 25 144,339 190,646 AN\46,307
= 15,000
s 15,000
Al 114,339
A MERH 2 144,339 190,646 A\46,307
= 15,000
= 15,000
Al 114,339
MEf A wet M= 2CIAY 30,000 50,000 /20,000
= 15,000
Al 15,000
307 @I2t01 & 30,000 50,000 220,000
= 15,000
Al 15,000
02 B HAHE L 30,000 50,000 /20,000
OUEHAH wet A= HIAAE
30,000,000& *13] 30,000
= 15,000
Al 15,000
=8 MEAZIXNS 2 64,339 40,646 23,693
201 fet= 3| 54,979 36,779 18,200
01 AtR2t2lHl 54,979 36,779 18,200
OdHAHZENEEHS Bratig FX Sz
= 2,200& +7,172m 16,779
OdESd2ENY 2Ac|?d HH+g
100,000 8 *23] 1,600
Od=sAEENY 2t E2= MH
1,000 *34,000% 34,000
Od=E2HXS 22E St ARESE 2
=t 300,000 * 122 3,600
202 04| 3,360 1,920 1,440
01 2LHoIH 3,360 1,920 1,440
Od=AUBHIS 2AN /s, IS
o M S 60,0003 »7 & +8L 3,360
401 A& HIX R0 6,000 0 6,000
01 A28l 6,000 0 6,000
OS4HUEHZ S ZEHI &Y
2,000,000 *32] 6,000
FUAD dESAEEXNNSY 22X 50,000 100,000 /50,000
[ 15,000
Al 35,000




SA JI=0IH X1
M gEd 25
Rl X MEHH 23 (crel &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 44,000 45,000 21,000
= 13,200
Al 30,800
01 At2teltl 44,000 45,000 1,000
Od=z=2d8XY S22 MH
10,0002 *2,0005 20,000
=S 6,000
Al 14,000
OUEH2HNSY QUASH ABIE(N T2
g 29 10,000,000 *13] 10,000
S 3,000
Al 7,000
OMSAPHIA QIASE A B2
= M 7,0008%2,0002] 14,000
=S 4,200
Al 9,800
307 212+01& 6,000 5,000 1,000
< 1,800
Al 4,200
02 LB HAHE L 6,000 5,000 1,000
OgSH=Al 8 FHUl S dEH 2=
S 6,000,000& 12 6,000
= 1,800
Al 4,200
ISy AL 536,943 495,297 41,646
Jl 161,000
s 9,143
Al 366,800
JI2HSEHA2 536,943 495,297 41,646
7l 161,000
= 9,143
Al 366,800
JI=HI ALY K 16,980 8,500 8,480
201 fer= 3| 7,400 4,300 3,100
01 At 2|l 4,400 4,300 100
OJI=Hs M T|& MRES 7
600,000 62 3,600
Ogdds d4+¢
100,000& 4 & »23] 800
02 S3=4gl 3,000 0 3,000
OXNHIsEN NLHFE S SSAE =
& o452t 2EF| 3,000,000& 3,000
202 04| 6,480 1,200 5,280
01 =LHOLI 6.480 1,200 5,280




S JIBHLTID
. J|2Ha Y M2
Rl JISHIEAXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJ|=Hstd X2 29 & HA&s| FA
60,0003 x6 2 x32 +63 6,480
310 =2/01& 3,100 3,000 100
01 =23 &01H 3,100 3,000 100
OICLEIN (XXM =ME3Eolal)ald 293
1,5502+2,000= 2 3,100
I RS Bt A= 50,070 37,990 12,080
201 2= 48,510 36,910 11,600
01 Al 221 16,510 2,910 3,600
OBAMLLS DN M
753 +60,0000H*23] 9,000
OBANHLLZ NSOIH 242
502 +5,00021 250
OdMHRE = Itz OlMl ===
80% *27,0004 2,160
OFNERgs AEIE =8
100&#5,0002 500
OBMERG= LN S& HH
50&+5,0000H %43 1,000
OBANHLYD YRSy BR2(240
S) M 1,800,000 *22] 3,600
2 35244l 32,000 24,000 8,000
OZMERYEZ HIIZDXNAN SELSER
= 4002 +18,0000 <22 14,400
OdNERg= HEE SFEIAM 2
Ee= 4002 %12,0000H =22 9,600
OFNERES =EALE FAL2+H|
2,000,000& 4= 8,000
202 04l 1,560 1,080 480
o1 =LHolb 1,560 1,080 480
OFNERes 24 & dEs 84 S
60,0003 x2& +73] 840
OZNERE3 DXA ST & A
&g 60,0002 x2& +63] 720
BASE A= 8 5,000 5,000
201 2= 1,000 1,000
01 AtR2t2lt] 1,000 1,000
OHASEAR HH4+H
100,0003 #5& »23] 1,000
301 EtE N = 4,000 4,000
14 DBt 2 a=S 4,000 4,000
OEtAZ=E A NS OIHE =&
5,0002 %1007 +82 4,000
JIRHSUES & FeUAA XH 67,640 15,560 52,080
201 et 3| 12,400 11,400 1,000
01 At22t2l] 12,400 11,400 1,000




I E & PN}
M DS E M2

? JI=HIIIEAX A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZIIHA B+ & BE2 MEOIR +42
N 5,000%*2,000CH 10,000
OJIBHSIIS ZUAH X e ARE
= 78 200,000& * 128 2,400
202 04| 3,240 2,160 1,080
01 =LHOLI 3,240 2,160 1,080
OJIZ=H3UE 212 & X3 &4
60,0003 x3& *63] 1,080
OJISHBS 2 FUAH X
60,0002 x3& 22 +63 2,160
203 =2l 2,000 2,000
03 A= PR FZ| 2,000 2,000
OJISHa (ISAY U XIIEE HREx
2,000,000 *14] 2,000
207 ARl 50,000 50,000
01 H2E4HI 50,000 50,000
ORMI3At J1=20] HSUH NFAEAE 4
gE9 50,000,000& *13] 50,000
2aJtA 25 53,160 85,104 A31,944
201 eer23| 53,160 51,104 2,056
01 AtR2t2|HI 42,200 40,144 2,0%
OtiE2 Nl MM 2SUH
15,000,000& *13] 15,000
O240tA BEFMIAEN & SHA &
= 24,000,000 13 24,000
O2atA 5 1218 =29
3,200,000& %12 3,200
02 S3=gHl 10,960 10,960 0
OBASEEQE QIMEIE &43FA & &I
HXt oHiE fEYS
2, 7403 +2,00024 %23 10,960
EIASEHEE(NUA) 2 304,000 304,000 0
7l 162,000
Al 152,000
301 EtE NS 304,000 304,000 0
Il 152,000
Al 152,000
14 IIEt2 83 304,000 304,000 0
OSHASEHEAE(MNUXI) QHEIE X2
30,4002 #5,000All CH*23 304,000
Jl 152,000
Al 152,000
EASHIEE(XSH) 2 18,000 18,000 0
7l 9,000
Al 9,000




2A:

JIZ 0L Xl 2

. J|2Ha Y M2
Rl JISHIEAXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 18,000 18,000 0
Jl 9,000
Al 9,000
14 DBt 2 a=S 18,000 18,000 0
OSHASEHAE(XSI) QHEIE X2
50,0002 *360CH 18,000
Jl 9,000
Al 9,000
Hetg e EHAHQIEN &0 2EAY(O1EIHY) 14,000 14,000 0
< 7,000
Al 7,000
301 EtE NS 14,000 14,000 0
= 7,000
Al 7,000
14 DBt 23 14,000 14,000 0
OSASEHEAEN & 2E(OIEIHLI)
8,0008 %1, 750 14,000
= 7,000
Al 7,000
Hetgd e EHAHQIEN & 2EAY(MA0HY) 8,093 7,143 950
[ 2,143
Al 5,950
301 LEIE NS 8,093 7,143 950
= 2,143
Al 5,950
14 IIEt2 83 8,093 7,143 950
OSASEHEAEN & 2E (AR
8,093% *1,000& 8,093
S 2,143
Al 5,950
GILX elZet &5 2 253t 1,756,314 3,117,220 1,360,906
= 122,581
< 94,500
Al 1,539,233
HIHX &g elZet f= 1,756,314 3,117,220 1,360,906
= 122,581
=S 94,500
Al 1,539,233
HHXIZS & "SEA &E 29,260 26,860 2,400
201 et 3| 22,060 22,060 0
01 At22t2l] 22,060 22,060 0
ONUT Eot ER2(H40 S) MK
3,000,000& *14] 3,000




SA IO 2
M WX elZet &F 2 83t
R oWl & elEel F15 (Gt H2)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
OAIZIFEN =MUUAN nEESE2E2 08 2
g 1,800,000 3 5,400
OUIHXIZ0F =5Hl S2AIY S2EAE A
= 2,500,000& %14 2,500
OUXl &t & 2LIEE 29
1,800,000 14| 1,800
O XI#IEe ?& &5
100, 0002 +9 23] 1,800
OFe TANABE HASINE| HaY
100,000 6 x32] 1,800
Ol B2 =X S|
8,000 x4 *152* 122 5,760
202 04l 7,200 4,800 2,400
01 2LHOIH 7,200 4,800 2,400
OU Al BR=X 04l
60,0002 x42&*302] 7,200
A AGHU XN 29 200,000 200,000 0
307 @120l & 200,000 200,000
05 2I2+?& = 200,000 200,000
O=&Al NGHUHXIHE 24
200,000,000+ 14 200,000
WILTIME! ALS SETAF 5,000 5,000
401 A &HIZ S| 5,000 5,000
01 A& 5,000 5,000
OUUTIME Al8S 24N
5,000,000 * 17 2 5,000
AU nEEEHsE2=d 7,300 6,220 1,080
201 er2 3| 7,300 6,220 1,080
01 AtR2te|HI 7,300 6,220 1,080
Oxga 22 cI2x M
300% *4,5000H*22] 2,700
OME2 SHAIE >4
1,000,000 #32] 3,000
OXZelH EH § 228 bl
800,000 22| 1,600
AT HUX 22 =0 613,000 903,594 A290,594
201 ZB=Eh] 613,000 903,594 A290,594
01 AtR2t2|HI 7,000 6,500 500
O0UXIZ0F 2AchZA =& & EE3F]
1,000,000 *3H 3,000
Ol JIZ2AHE S AFE2IL N2
300,000 5% 1,500
OUUHXNE AMesSsE Y
500,000 52 2,500
02 s3=gHl 606,000 897,094 A291,004




2A:

JIZ 0L Xl 2

B UK T3 HE Y 583
R oWl & elEel F15 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OdflEEC0Z &4 RIZEEX} afets
603,000,000& *13] 603,000
OuHXIZ® Mg XYZRE2s XIALA
FE8= 3,000,000& %12 3,000
ATHEUH X F=EXE ALE 180,000 160,000 20,000
[ 90,000
Al 90,000
402 QI2F X201 & 180,000 160,000 20,000
= 90,000
Al 90,000
02 QI X2 AL EE(0IETHE) 180,000 0 180,000
OQTHAOIH Xl Z=ERXI A
60,000, 000& *32] 180,000
= 90,000
Al 90,000
o0& 29 55,212 15,000 40,212
201 2= 55,212 15,000 40,212
2 S22l 85,212 15,000 40,212
OECOZ M A MI|otd kel
2,150,000& «12& 25,800
OECOZ & A OCTV SAIRS
365,000 x 12 4,380
OECOZ ™A ZLIHEAIAE SRS
34,0002 *40H A 128 1,632
o&IIe3 920,000 * 122 11,040
OREC==2 &= 30,0002~ 12 360
OECOZ ™A Q1B E w Al
5,000,000 =2CH 10,000
OESS & EHZ4H| HE FIIaA =2
500,000 #4042 2,000
BCHYE ASAY 100,000 100,000
402 QI2F X201 & 100,000 100,000
01 QI X2 AL E A (KEMITHE) 100,000 100,000
OECH2Z ASAL (ST AIY)
100,000,000& 12 100,000
FAHS deH5=t At 130,000 85,000 45,000
= 91,000
Al 39,000
401 Al HIZ R 0HHI 130,000 85,000 45,000
= 91,000
Al 39,000
01 Al&HI 130,000 85,000 45,000
OF s HHAS S At
1,300,000 *1009H 2~ 130,000
= 91,000




2A:
X XH -
o e

=aak

JIZ 0l X 2
OIUX elzet &5 2 253
ORI & eloel 1

SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 39,000
NEIE JIAHEEXI(EIOIHZE) ESAY 15,000 15,000 0
== 4,500
Al 10,500
403 THXI M SAH=01H 15,000 15,000 0
< 4,500
Al 10,500
02 SIS0t =2 S A AEHI 15,000 15,000 0
OKPIZ JHAQHHEXI(EI0I01R) HSAY
15,000,000 *13] 15,000
= 4,500
Al 10,500
SEXNS JtAAE HEAS 86,400 86,400 0
403 AXIEHMSAH=201H 86,400 86,400
02 SO 2SOt stA=2E 2 €A H] 86,400 86,400
OsEXY JHAAE HEAS
288,000 *300AlI CH 86,400
LPG AHEDt7 AIEIHE At 63,162 45,000 18,162
= 31,581
Al 31,581
403 MR HHMSAH=01H 63,162 45,000 18,162
= 31,581
Al 31,581
02 SISOt =2 A 2 E A I 63,162 45,000 18,162
OLPG AEIt7 AlEIHEALS
63, 162,000& *13] 63,162
= 31,581
Al 31,581
= TAIIASS EXAY 271,980 300,000 28,020
402 QI+ X201 & 271,980 300,000 28,020
01 QI X2 AL E X (KEMITHE) 271,980 300,000 N28,020
O ZADIAEE BX
906,600, 0002 *30% 271,980
AY2IZHI(OI=0HXIL) 145,548 129,373 16,175
QIE =4I 60,228 61,123 A89%5
el 24| 60,228 61,123 A89%5
101 @124H| 60,228 61,123 A89%5
01 E= 60,228 61,123 A8
OAlRAZ25E
11,9502 * 142 +30A| 2+ 123 60,228
=38l 85,320 68,250 17,070
Jl23H] 85,320 68,250 17,070
201 er=23y| 57,120 37,770 19,350
01 AtR2t2|HI 57,120 37,770 19,350




A JISHLID
M HARAZHI(OIFUEHXIL)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAMRES Y 450,000 123 5,400
OAlR4 HIS 7¢ 450,000« 12& 5,400
OHISE M= 2,000,000& %52 10,000
Os=22= MX M= 100, 000& 20 2,000
O=AEX 7Y 30,0003 »208} A%62] 3,600
OSAPI itz 700,000& «2CH* 12& 16,800
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